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DEFINITE INTEGRAL AS AN AREA

Example

1. Find the area bounded by the curve the x-axis and the

ordinate at x=4

Watch Video Solution

y2 = 4x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4BDft4ILVsrL


2. Find by integration the area of the triangle bounded by line

 ,the x axis and the ordinate x =4 Verify your result by

using the definition of area of a triangle as half the product of the

base and the altitude.

Watch Video Solution

4y − 5x = 0

3. Find by integration the area of the trapezoid bounded gy

 and  Verify your result by finding

the area of a trapezoid as the product of half the sum of the two

parallel sides and the distance between them.

Watch Video Solution

y = 2x + 1, y = 0, x = 2 x = 4

4. Find the area bounded by the parabola  ,the y-axis and

the abscissa at y =4.

y = x2

https://dl.doubtnut.com/l/_G9PQBFfQDoI3
https://dl.doubtnut.com/l/_nS295PcLVke3
https://dl.doubtnut.com/l/_rJXpuhPRpKnJ


Watch Video Solution

5. Using integration find the area of the region bounded by the

parabola  and the line x = 4

Watch Video Solution

y2 = 16x

6. Find the area in the second quadrant bounded by the curve

 and the coordinate axes.

Watch Video Solution

y = x3 + 8

7. Find the area bounded by the parabola  and the x-

axis

Watch Video Solution

y = x(4 − x)

https://dl.doubtnut.com/l/_rJXpuhPRpKnJ
https://dl.doubtnut.com/l/_ELwVfIN8e9bR
https://dl.doubtnut.com/l/_fNFbLuCaaBl2
https://dl.doubtnut.com/l/_F32lbq3jHS1m
https://dl.doubtnut.com/l/_6SFFjQELY6xx


8. Find the area bounded by the parabola  and its double

ordinate x =b

Watch Video Solution

y2 = 4ax

9. Using integration find the area of the triangle whose vertices are

A (1,0) ,B( 2,2) and C (3,1)

Watch Video Solution

10. Find the area in the first quadrant bounded by the circle

,the x-axis and the ordinates x =1 and x=3

Watch Video Solution

x2 + y2 = 16

https://dl.doubtnut.com/l/_6SFFjQELY6xx
https://dl.doubtnut.com/l/_HqRwMc98OzX2
https://dl.doubtnut.com/l/_Pfefz1kAICdZ


11. Find the area of the region bounded by the ellipse 

Watch Video Solution

+ = 1
x2

a2

y2

b2

12. By finding the area of a regular polygon of n sides inscribed in a

circle of radius r ,show that the area of the circle is 

Watch Video Solution

πr2

13. Find the area included between 

Watch Video Solution

y2 = 9x and y = x

14. Find the area bounded by the parabola

y2 = 4ax and x2 = 4ay

https://dl.doubtnut.com/l/_BDNyqdfGVjxC
https://dl.doubtnut.com/l/_6tq2OMKWwpRK
https://dl.doubtnut.com/l/_wrt8vDA7FTbk
https://dl.doubtnut.com/l/_ORQNwqLcUIKI


Watch Video Solution

15. Find the area cut off from the parabola by the straight

line 

Watch Video Solution

4y = 3x2

3x − 2y + 12 = 0

16. On a diagram mark the area bounded by the parabola 

and the circle x-4 =  above the x-axis and obtain

the area by integration

View Text Solution

y2 = 4x

4 cos θ, y = 4 sin θ

17. Find the area of the region 

Watch Video Solution

{(x, y) : x2 < y < x}

https://dl.doubtnut.com/l/_ORQNwqLcUIKI
https://dl.doubtnut.com/l/_zLcmfoVVwHam
https://dl.doubtnut.com/l/_8H05xXmXnnJJ
https://dl.doubtnut.com/l/_HBAKxgiC1dKe


18. Find the area of the smaller region bounded by the ellips

 and the straight line

Watch Video Solution

+ = 1
x2

a2

y2

b2
+ = 1

x

a

y

b

19. Find the area of the region 

Watch Video Solution

{(x, y) : x2 < y < |x|}

20. Find the area of the region enclosed between the two circles

 and 

Watch Video Solution

x2 + y2 = 1 (x − 1)
2

+ y2 = 1

21. Find the area of the region bounded by the curve 

axis and the ordinates x=0 and 

y = cos x, x

x = 2π

https://dl.doubtnut.com/l/_QRUdpR7U8oaB
https://dl.doubtnut.com/l/_aLYFE3f0ZGC2
https://dl.doubtnut.com/l/_D6rQHahxdoIZ
https://dl.doubtnut.com/l/_2HgHIU33XM8S


Watch Video Solution

22. Draw a rough sketch of the curves  as x

varies from 0 to  and find the area of the region enclosed

between them and x-axis

Watch Video Solution

y = sinx and y = cos x

π

2

23. Find the area in the first quadrant which is common to the circle

 and the ellips 

Watch Video Solution

x2 + y2 = 4 x2 + 4y2 = 9

24. From the point P(1.1) on the curve  perpendicular Pm and

PN are drawn upon the coordiante axes OX and OY

y = x4

https://dl.doubtnut.com/l/_2HgHIU33XM8S
https://dl.doubtnut.com/l/_gbOHnrV77BU0
https://dl.doubtnut.com/l/_PnSNI4kbBwM9
https://dl.doubtnut.com/l/_lbLNf9XWcBai


respectively.Show that the ratio of the smaller to the larger of the

two areas in which the square OMPN is divided by the curve is 1: 4

Watch Video Solution

25. Using integration find the area of the triangle whose vertices

are A(-4,3) ,B ( 3,4) and C( 8,6) `

Watch Video Solution

26. By the method of integration find the area of the triangle

formed by the straight lines  and 

Watch Video Solution

x + 3y − 8 = 0, 5x − y − 8 = 0

x − y + 4 = 0

https://dl.doubtnut.com/l/_lbLNf9XWcBai
https://dl.doubtnut.com/l/_DUMpDlyleit2
https://dl.doubtnut.com/l/_6NfatnsO3HAl


Exercise 17 M C Q

27. The curve y  +bx passes through the point (1,2) and the area

enclosed by the curve the x-axis and the line x =4 is 8 square units.

Determine a and b

Watch Video Solution

ax
1
2

1. The area bounded by to the line  ,x-axis and the

ordinates x = 3 ,x=5 (in square units)-is

A. 16

B. 8

C. 4

D. 

2x − 3y = 0

16

3

https://dl.doubtnut.com/l/_mC1NLm4LlDiL
https://dl.doubtnut.com/l/_qdQ82drmr278


Answer: C

Watch Video Solution

2. The area bounded by the curve  (in square units ) y-

axis and the two horizontals y=1 and y= 4 is-

A. 7

B. 14

C. 

D. 

Answer: B

Watch Video Solution

2y2 − 3x = 0

64
9

110

9

https://dl.doubtnut.com/l/_qdQ82drmr278
https://dl.doubtnut.com/l/_HHgVtKmgnfnI


3. The area bounded by the curve y= ,x-axis and the two

ordinates  ( in square units ) is-

A. 2

B. -2

C. 1

D. -1

Answer: A

Watch Video Solution

cos x

x = − , x =
π

2

π

2

4. The area (in square unit) bounded by the curve y= sin x, x-axis and

the two ordinates x  is-

A. 1

B. -1

= π, x = 2π

https://dl.doubtnut.com/l/_SQKCwLCdgu9w
https://dl.doubtnut.com/l/_oyINRVh2yYqI


Very Short Answer Type Questions

C. -2

D. 2

Answer: C

Watch Video Solution

1. State the geometrival interpretation of 

Watch Video Solution

∫
b

a

f(x)dx

2. State the geometrival interpretation of 

Watch Video Solution

∫
d

c

ϕ(y)dy

https://dl.doubtnut.com/l/_oyINRVh2yYqI
https://dl.doubtnut.com/l/_dfWUPnVpQ736
https://dl.doubtnut.com/l/_c4zXOLJ2DlBo
https://dl.doubtnut.com/l/_2bUur1YBqpU1


3. Using intregation find the area of the region bounded by the line

 and the lines x= 2 and x =4

Watch Video Solution

2y + x = 8

4. Draw a sketch graph showing the area of the region bounded by

the parabola  ,the x -axis and  Calculated its area.

Watch Video Solution

y = x2 x = 2

5. Draw sketch graph of  the y-axis and the straight line y=3

and shade the region bounded by them. Find the area of the

shaded region

Watch Video Solution

y2 = x

https://dl.doubtnut.com/l/_2bUur1YBqpU1
https://dl.doubtnut.com/l/_ciOn7R3QCRdy
https://dl.doubtnut.com/l/_yvtQuCdWzcCt


6. Find the area bounded by the x-axis and one arc of the sine curve

y= sin x between (0,0) and 

Watch Video Solution

(π, 0)

7. Draw the graph of y between  and  .Find

the area between this curve and the x-axis

Watch Video Solution

= cos x x =
π

2
x =

3π

2

8. Using integration,find the area of  whose vertices are 

Watch Video Solution

ΔPQR

P (2, 1), Q(3, 4) and R(5, 2)

https://dl.doubtnut.com/l/_yLUqyE2rTDZM
https://dl.doubtnut.com/l/_KqBdwyOtQRaq
https://dl.doubtnut.com/l/_WAvjX6LXmfwq


Short Answer Type Questions

9. Find the area in the fourth quadrant bounded by the curve

 and the coordinate axes

Watch Video Solution

y = x3 − 8

10. Determine the area bounded by the rectangular hyperbola

 and the two ordinates x =c,x=2c

View Text Solution

xy = c2, thex − aξs

1. Find by integration the area of the triangle bounded by the lines

3x  and x=4 Verify your result by using the definition

or area of a triangle as half the product of the base and altitude

Watch Video Solution

−2y = 6, y = 0

https://dl.doubtnut.com/l/_rVmTeaOM6Ulw
https://dl.doubtnut.com/l/_UKhsXvCj52Qv
https://dl.doubtnut.com/l/_USDoNVrp3HZj


2. Find by integration the area of the trapezoid bounded by

 and x=3 .Verify your result by finding the

area of a trapezoid as the product of half the sum of the two

parallel sides and the distance between them.

Watch Video Solution

y = 4x = − 3, y = 0

3. Find the area bounded by the parabola  and its latus

rectum

Watch Video Solution

x2 = 12y

4. Find the area of the 

(i) circle x =a cos  , 


(ii) ellips  by the method of integration

θ y = a sin θ

x = a cos θ, y = b sin θ

https://dl.doubtnut.com/l/_USDoNVrp3HZj
https://dl.doubtnut.com/l/_r7Kmk0ppHcEj
https://dl.doubtnut.com/l/_Gq2W3kqxc7Tc
https://dl.doubtnut.com/l/_IzUofWlGctx4


Watch Video Solution

5. Calculated the area enclosed by the ellipse  and

the x-axis

Watch Video Solution

4x2 + 9y2 = 36

6. Find the area of the plain region enclosed by the curve

 and the y-axis

Watch Video Solution

y2 = 2y − x

7. Determine the area lying above the x-axis and under the parabola

y=2x-

Watch Video Solution

x2

https://dl.doubtnut.com/l/_IzUofWlGctx4
https://dl.doubtnut.com/l/_Rezeubj1xsAO
https://dl.doubtnut.com/l/_LZMAFuk5NKZW
https://dl.doubtnut.com/l/_G6aIhZCsjPTf
https://dl.doubtnut.com/l/_9R8RkPeitJN1


8. Find the area bounded by the parabola 

and the x -axis

Watch Video Solution

y = 16(x − 1)(4 − x)

9. Mark the area bounded by the curve  and

the y-axis and obtain the area by integration

Watch Video Solution

(y − 1)(y − 5) = 4x

10. Draw the graph of the curve  shade the area

enclosed by the curve ,the x-axis and the lines x =-1 and x =3 Find the

area of the shaded region by the method of integration

Watch Video Solution

y = 3x2 + 2x + 4

https://dl.doubtnut.com/l/_9R8RkPeitJN1
https://dl.doubtnut.com/l/_JLwMMAckfb5h
https://dl.doubtnut.com/l/_Fej8cHFH3wiw


11. Using integration find the area of the region bounded by the

lines 

Watch Video Solution

y = 1 + |x + 1|, x = 2, x = 3 and y = 0

12. Show that a triangle made by a tangent at any point on the

curve xy and the coordinates axes is of constant area.

A. s

B. 

C. 

D. 

Answer:

Watch Video Solution

= c2

https://dl.doubtnut.com/l/_JPHugEb4E6Bo
https://dl.doubtnut.com/l/_tEUIuZ5y6iQG
https://dl.doubtnut.com/l/_6hliu3nZawmh


Long Answer Type Questions

13. Find the common area between the parabolas and

Watch Video Solution

y2 − ax = a2

y2 + ax = a2

1. Find the area bounded by the curve  and the x

axis

Watch Video Solution

f(x) = 4 − |x|

2.  Using definite integral find the area of the triangle bounded

by the straight lines x =0,y=4x and 2x+ y =6 

 Using definite integral find the area of the triangle bounded by

the straight lines x =0 ,y=x and 2y+x=6

(i)

(ii)

https://dl.doubtnut.com/l/_6hliu3nZawmh
https://dl.doubtnut.com/l/_RH9cfMHE8nzA
https://dl.doubtnut.com/l/_Ycj5Ta2QM5rW


Watch Video Solution

3. Shade the area bounded by  and y=x above positive

direction of x-axis and use integration to find the area of that part.

Watch Video Solution

y2 = 8x

4. Draw the sketch graph of the function  and  and

shade the areas  what will be the value of

the area enclosed by these two curves?

Watch Video Solution

y = x2 y = x3

∫
1

0
x2dx and ∫

1

0
x3dx

5. Show that,the area bounded by the parabola  =4ax and a

double ordinate is two third of the rectangle formed by this

ordinate and the abscissa.

y2

https://dl.doubtnut.com/l/_Ycj5Ta2QM5rW
https://dl.doubtnut.com/l/_ryeUCZYyrVNl
https://dl.doubtnut.com/l/_lQi84ZMrWy8e
https://dl.doubtnut.com/l/_EX0T3UkAOI6e


Watch Video Solution

6. Using integration ,find the area of the region enclosed between

the circles and 

Watch Video Solution

x2 + y2 = 4 (x − 2)
2

+ y2 = 4

7. Find the area of segment of the parabola  cut

off by the straight line 

Watch Video Solution

y = x2 − 5x + 15

y = 3x + 3

8. Mark the area bounded by the curve  and

the y-axis and obtain the area by integration

Watch Video Solution

(y − 1)(y − 5) = 4x

https://dl.doubtnut.com/l/_EX0T3UkAOI6e
https://dl.doubtnut.com/l/_tfT2QIS4Iyk6
https://dl.doubtnut.com/l/_HxsBwHvpMoxH
https://dl.doubtnut.com/l/_OH7NoyygcMB2
https://dl.doubtnut.com/l/_Cb3p9inCAfCL


9. shade the area enclosed by the parabolas =x and  and

use the method of integration to find the area so enclosed

Watch Video Solution

y2 x2 = y

10. Using integration find the area of the regions common to the

circle  and the parabola 

Watch Video Solution

x2 + y2 = 16 y2 = 6x

11. Draw rough sketch of the area bounded by the curves

 find its area.

Watch Video Solution

x + 2y = 1

https://dl.doubtnut.com/l/_Cb3p9inCAfCL
https://dl.doubtnut.com/l/_y57tOHAe0Zbt
https://dl.doubtnut.com/l/_2vCV1tUY539P


12. Find the common area between the parabolas  and 

Watch Video Solution

y2 = 4ax

x2 = 4by

13. Determine the area enclosed between the parabola  and

the straight line 

Watch Video Solution

x2 = 8y

x − 2y + 8 = 0

14. Find the area of the region  


(ii) Find the area of the region

 


(iii) Using integration find the area of the region

Watch Video Solution

{(x, y) : x2 + y2 < 1 < x + y}

{(x, y) : x2 + y2 < 2ax, y2 > ax, x > 0, y > 0}

{x, y) : y2 < 4x, 4x2 + 4y2 < 9}.

https://dl.doubtnut.com/l/_ckdD1ifP4AzA
https://dl.doubtnut.com/l/_4WciDeKBXz6X
https://dl.doubtnut.com/l/_yRPZB0TPQsOy


15. Find the area included between the parabolas  and the

line joining its vertes and an end of latus-rectum

Watch Video Solution

y2 = 16x

16. Show that,the area bounded between  in

the first quadrant is 4 square units.

Watch Video Solution

y = x3 and y = 4x

17. Find the area in the first quadrant bounded by the circle

 and the line y=x

Watch Video Solution

x2 + y2 = 16

https://dl.doubtnut.com/l/_yRPZB0TPQsOy
https://dl.doubtnut.com/l/_k35ogXKwo9xA
https://dl.doubtnut.com/l/_pRgX8GEd8XVe
https://dl.doubtnut.com/l/_OuZMRNO0SjYn


18. Find the area of the smaller part into which the circle

 is divided by the straight line 

Watch Video Solution

x2 + y2 = a2 x =
a

√2

19. The straight line  divides the ellipse 

 into two parts.prove that the area of the

smallar part is  square units.

Watch Video Solution

bx + ay = ab

b2x2 + a2y2 = a2b2

(π − 2)
ab

4

20. If the area bounded by the parabola  and its double

ordinate  is two times the area bounded by its latus rectum

prove that 

Watch Video Solution

y2 = 4ax

x = h

h : a, = 2 : 1.
3
2

https://dl.doubtnut.com/l/_4YTFYFpx8VxC
https://dl.doubtnut.com/l/_DG50mhNkSnaZ
https://dl.doubtnut.com/l/_dPi1K5zgkhE7


21. The area bounded in the first quadrant by the rectangular

hyperbola  the x-axis and the ordinates 

find c 


(ii) If the area enclosed between the curves y  and 

 is 1 square units find k

Watch Video Solution

xy = k2

x = 3, x = cis2k2 log 5,

= kx2

x = ky2(k > 0)

22. Prove that the curves  divide the

square bounded by and y=4a into three equal

parts.

Watch Video Solution

y2 = 4ax and x2 = 4ay

x = 0, y = 0, x = 4a

23. Perpenicular PM and PN are drawn upon the coordinates axes

OX and OY respectively from the point P( 3,3) situated on the

https://dl.doubtnut.com/l/_48Jsdkc6rMxZ
https://dl.doubtnut.com/l/_To1xkfnSSWiG
https://dl.doubtnut.com/l/_i0cZ7GuTuQaV


parabola .Show that ,the ratio of the larger to the smallar

of the two areas in which the area PNOM is divided by the are OP of

the parabola is 2: 1

Watch Video Solution

y2 = 3x

24. IF A be the area bounded by the x-axis and one are of the curve

y  between (0,0) and  and B be the area bounded

by the x-axis and one are of the curve  between (0,0) and

 show that ,A : B =1: 12

Watch Video Solution

= a cos 3x ( , 0)
π

6

y = a cos
x

4

(2π, 0)

25. Using integration find the area the area bounded by the lines

Watch Video Solution

y = 4x + 5, y = 5 − x and 4y = x + 5

https://dl.doubtnut.com/l/_i0cZ7GuTuQaV
https://dl.doubtnut.com/l/_Q1IFcSowQyQ2
https://dl.doubtnut.com/l/_K45ITdhg1o68


26. Show that ,the area of the coodinates axes is  square units 


(ii) Using the method of integration find the area bounded by the

curve 

Watch Video Solution

a2

6

|x| + |y| = 1

27. The area between  and x = 4 is divided into two equal

parts by the line x= a, find the value of a.

Watch Video Solution

x = y2

28. Find the area of the region bounded by the parabola 

and 

Watch Video Solution

y = x2

y = |x|

https://dl.doubtnut.com/l/_ggOpj1we2whd
https://dl.doubtnut.com/l/_EKYW1RU6yEVh
https://dl.doubtnut.com/l/_gGf7yE8MpgdE


29. The area bounded by the curve , x-axis and the ordinates:

x = - 1 and x= 1 is given by

Watch Video Solution

y = x3

30. A function  is defined as follow: 


 


Find the area above the x-axis included between the curve

 and the line x=4

Watch Video Solution

y = f(x)

         y = f(x) = {
x2 when0 < x < 1

√x whenx > 1

y = f(x)

31. Find by integration the area of the triangle formed by the x-axis

and the tangent and normal to the parabola  at (5,5)

Watch Video Solution

y = 6x − x2

https://dl.doubtnut.com/l/_OMicMuXmDlkf
https://dl.doubtnut.com/l/_AmAFlRK6yu1W
https://dl.doubtnut.com/l/_2uOsLmMjZYnA


Mcq

1. Area of the region bounded by the curve  and lines x =0

and y=e is-

A. e-1

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

y = ex

∫
e

1
(log(e + 1 − y)dy

e − ∫
1

0
exdx

∫
e

1
logydy

2. The area enclosed between the curves  and  is equal

to-

y = x x2 = y

https://dl.doubtnut.com/l/_pOQFmOKM5e8F
https://dl.doubtnut.com/l/_DdMeAT7cFClu


A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

1

6

∫
1

0
(x − x2)dx

1

2

3

4

3. Let S be the area of the region enclosed by  ,y=0 x =0

and x=1 ,Then -

A. 

B. 

C. 

D. 

y = e−x2

S >
1

e

s ≥ 1 −
1

e

slq (1 + )
1

4

1

√e

S < + (1 − )
1

√2

1

√e

1

√2

https://dl.doubtnut.com/l/_DdMeAT7cFClu
https://dl.doubtnut.com/l/_VBKsYOnkgFtc


Answer: A::B::C

Watch Video Solution

4. The parabolas  divide the square region

bounded by the lines x=4,y=4 and the coordinates axes. If 

are the areas of these parts numbered from the top to bottom

respectively,then-

A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

y2 = 4x and x2 = 4y

S1, S2, S3

S1 : S2 = 1: 1

S2 : S3 = 1: 2

S1 : S3 = 1: 1

S1 : (S1 + S2) = 1: 2

https://dl.doubtnut.com/l/_VBKsYOnkgFtc
https://dl.doubtnut.com/l/_YEGBw3GLJec4


Integer Answer Type

5. Let the curve  +bx passes through the point (1,2) and lies

above the axis for  .If the area enclosed by the curve the

x-axis and the line x =4 is 8 eq. units Then-

A. a=1

B. b=1

C. a=3

D. b=-1

Answer: C::D

Watch Video Solution

y = ax
1
2

0 < x < 9

https://dl.doubtnut.com/l/_gJZG5V6Njzx4


1. The area of the figures bounded by the curves  and

y=3 -|x| is-

Watch Video Solution

y = |x − 1|

2. If S is the area bounded byb the curve y  and 

 then the value of  is equal to-

Watch Video Solution

= √1 − x2

y = x3 − x
π

S

3. If the area inside the parabola  but outside the

parabola  is  sq . Units then the value of K is

equal to-

Watch Video Solution

5x2 − y = 0

2x2 − y + 9 = 0 2K√3

https://dl.doubtnut.com/l/_izcM3Jo0jSua
https://dl.doubtnut.com/l/_Ra1VnLpLus4f
https://dl.doubtnut.com/l/_94XMkBZzWXDJ


Matrix Match Type

4. If the area enclosed between the curves

 is  sq. unit ,then the value

of K is equal to-

Watch Video Solution

|y| = 1 − x2 and x2 + y2 = 1
3π − K

8

5. The area enclosed between the curve

 and x-axis is K sq. units then the

value of K is equal to-

View Text Solution

y = loge(x + e), x loge( )
1

y

1. ` (##CHY_SND_MAT_XII_U03_C17_E07_001_Q01.png" width="80%">

View Text Solution

https://dl.doubtnut.com/l/_LVrVZu00EZPX
https://dl.doubtnut.com/l/_30BpWjSGzMN3
https://dl.doubtnut.com/l/_2R3ypiH4mMGy


Comprehension Type

2. 

View Text Solution

CHY_SND_MAT_XII_U03_C17_E07_002_Q01.pngwidth = 80% >

1. Consider the curves

 

the area enclosed between the curves  is ( in

square units ) -

A. 

B. 

C. 

C1 : x = 0, C2 : y = 0, C3y = x2 + 1, C4 : y = 2, C5 : x = 1

C1, C2, C3 and c5

5

6

4

3

2

3

https://dl.doubtnut.com/l/_2R3ypiH4mMGy
https://dl.doubtnut.com/l/_CX3baVVCm7zF
https://dl.doubtnut.com/l/_17VYYuRNqmy6


D. 

Answer: B

Watch Video Solution

7
3

2. Consider the curves

 


The area bounded by the curves  (in square units )

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C1 : x = 0, C2 : y = 0, C3y = x2 + 1, C4 : y = 2, C5 : x = 1

C3 and C4

20

3

2

3

5

6

7
5

https://dl.doubtnut.com/l/_17VYYuRNqmy6
https://dl.doubtnut.com/l/_4F4aOsi8djjC


3. Consider the curves

 

The area bounded by the curves  and which lies to

the right of  is ( in square units )-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C1 : x = 0, C2 : y = 0, C3y = x2 + 1, C4 : y = 2, C5 : x = 1

C1, C3 and C4

C1

4
3

5

6

7
5

2

3

4. The area of the region bounded by the curve and the line x=-1 is

https://dl.doubtnut.com/l/_4F4aOsi8djjC
https://dl.doubtnut.com/l/_M3ZJDzhauzYH
https://dl.doubtnut.com/l/_tV8GEOD6vmPG


A.  square units

B.  square units

C.  square units

D.  square units

Answer: A

View Text Solution

(π + 1)

(π − 1)

( + 1)
π

2

( − 1)
π

2

5. Line x =0 divides the region mentioned above in two parts,The

ratio of the area left-hand side of the line to that of right-hand side

of the line is-

A. 

B. 

C. 

(2 + π) : π

(2 − π) : π

1: 1

https://dl.doubtnut.com/l/_tV8GEOD6vmPG
https://dl.doubtnut.com/l/_gB0KJ7bBmi14


D. 

Answer: D

Watch Video Solution

(π + 2) : π

6. The area of the region of curve and lines x =0 and is -

A.  square units

B.  square units

C.  square units

D.  square unit

Answer: A

View Text Solution

x =
1

2

( + )
√3

4

π

6

( + )
√3

2

π

6

( − )
√3

4

π

6

( − )
√3

2

π

6

https://dl.doubtnut.com/l/_gB0KJ7bBmi14
https://dl.doubtnut.com/l/_6AvLRk2v4QeH


Assertion Reason Type

1. Statement-I : Area bounded by y =  ,y=0 and x=0 is 1 square units 


Statement -II: Area bounded by y  is 1

square units

A. Statement -I is True statement -II is a correct explanation for

statement-I

B. Statement -I is true ,Statement-II is not True explanation for

Statement-I

C. Statement -I is True Statement-II is False

D. Statement -I is False,Statement -II is True

Answer: A

Watch Video Solution

ex

= loge x, x = 0 and y = 0

https://dl.doubtnut.com/l/_g2hxvXDPOud6
https://dl.doubtnut.com/l/_KqTLytb5Gf2u


2. f(x) is a polynomial of degree 3 passing through the origin having

local extrema at  


Statement-I: Ratio of the areas in which f(x) cuts the circle

 is 1: 1 


Statement-II Both and the circle are symmetric about the

origin

A. Statement -I is True statement -II is a correct explanation for

statement-I

B. Statement -I is true ,Statement-II is not True explanation for

Statement-I

C. Statement -I is True Statement-II is False

D. Statement -I is False,Statement -II is True

Answer: A

Watch Video Solution

x = ± 2

x2 + y2 = 36

y = f(x)

https://dl.doubtnut.com/l/_KqTLytb5Gf2u



